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QUESTION 1

Which of the following about CMG CUPS architecture is FALSE?

A. CMG user plane VNF implements the SGW-U, PGW-U, and GGSN-U functionalities
B. A 7750 SR MG communicates with a CMG control plane VNF over Sx interface

C. CMG control plane VNF can be deployed in LB-mode or LB-less mode

D. CMG user plane VNF can be deployed in LB-mode or LB-less mode

Correct Answer: C

QUESTION 2

Which of the following management tools performs the function of virtual infrastructure manager (VIM) in the CPC NFV
architecture?

A. NetAct

B. CloudBand Infrastructure Software (CBIS)
C. Operations Support System (OSS)

D. Network Service Platform (NSP)

Correct Answer: B

QUESTION 3

Which of the following statements about 4G-5G RAN-level interworking solution is FALSE?
A. It requires a direct interface between the two radio nodes serving the UE.

B. One serving radio node acts as master node and the other as secondary node.

C. Only one serving radio node can receive data plane traffic from the core network.

D. One of the radio nodes serving the UE is the anchor point for control plane.

Correct Answer: A

QUESTION 4
Which of the following statements about 4G-5G CN-level interworking solution is FALSE?

A. It requires a direct interface between the two radio nodes serving the UE
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B. The UE manages the LTE and NR interface connections independently
C. The UE can be registered to both EPC and next generation core
D. The UE IP address remains the same despite changes in the network that the UE connects to

Correct Answer: D

QUESTION 5

Which of the following functions can be provided by an SPS managed element (ME)?
A. Service Manager

B. Customer Engagement

C. Policy Control Enforcement Function

D. Subscriber Profile Repository

Correct Answer: B
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